POLITICAL POLLS
Activity 2
NZ Herald April 2012 Digi-poll.
Read the article, asking and answering appropriate “worry” questions as you read.
a) Write at least 2 positive comments on this poll and /or the way it has been reported
Possible comments: Random sample (Digipoll use RDD) so likely to be representative of adult NZers.
Digipoll uses CATI so probably low non-response bias and interviewer effects minimised through training of interviewers. 
Low MoE = only 3.6%. 
The report clearly states the poll%s are for decided voters and quotes the % of un-decided voters.
b) Note at least 2 concerns about the poll and /or the way it has been reported.
Possible comments: Poll methodology (other than sample size) not clearly stated-it is assumed readers know Digipoll uses a random process. Long polling time (10 days) with a significant political event in last 2 days-those polled at the beginning might have changed their response if polled at the end.
Use of RDD means those without a landline phone cannot be sampled- may mean under-sampling of young voters eg students flatting.
The claims quoted in the article have ignored the effect of sampling variability. Only single poll%s and absolute differences are quoted.
The sample size for the previous poll is not given. The reader is left to assume it was the same as the present poll.

c) Calculate a 95% confidence interval for the percentage support for National in the April 2012 poll and explain the meaning of this confidence interval.
48.1%±3.6% = [44.5%, 51.7%]
With 95% confidence, we can infer that % support for National is somewhere between 48.1% and 44.5%
Higher order thinking:  Remove 7.1% of 750 undecideds :  n=697,  MoE = 3.8%,  [44.3%, 51.9%]


d) Can it be claimed that more voters agree that the government is moving in the right direction than disagree?    (see fig.2)
     Explain your reasoning clearly and support it with appropriate calculations.
Difference = 7.1 p. pts
MoE = 3.6×2 = 7.2%
95% CI   [ -0.1p.pts, 14.3 p.pts]
With 95% confidence we can infer that the % of voters agreeing that the govt is moving in the right direction could be up to 0.1 p. pts less and up to 14.3 p.pts more than the % disagreeing.
Claim is not supported since the % disagreeing may be higher than the % agreeing.

e) Test the following two claims made in the article:
Explain your reasoning clearly and support it with appropriate calculations.

-(i) “Labour makes big leap in poll”
Have to assume previous poll has same sample size with MoE also 3.6%.
Leap = 6.8 p.pts
MoE difference = 1.5×3.6 = 5.4p.pts      (or 1.5 ×3.8 = 5.5 p.pts if undecided removed)
[1.4 p. pts, 12.2. p.pts]                                     [1.1 p.pts, 12.5 p.pts]
Meaning:  
With 95% confidence, we can infer that the gain for labour is somewhere between 1.4 pt.pts and 12.2 p.pts
Claim is supported since the lower limit of the CI is positive.

(ii)  “Confidence in the  way the government is running the country is waning” 
(waning means shows a drop)
Difference = 54.4 – 49.2 = 5.2 p.pts   (see 4th paragraph, 2nd column of text)
MoE difference = 1.5 × 3.6 = 5.4 %
95% CI    [-0.2 p.pts, 10.6 p. pts]
With 95% confidence, we can infer that the drop in confidence in the way the government is running the country is somewhere between -0.2 p. pts and 10.6 p.pts.
[bookmark: _GoBack]Claim NOT supported since the negative lower limit could mean there is a gain in confidence, not a drop.
